IV' CAREERINDIA

INTERMEDIATE EXAMINATION 2021 (ANNUAL)

MODEL SET

w3 EC 15 M CHEMISTRY (& o) quifes — 70
Time : 3 Hours 15 Minutes Full Marks - 70

gerfefal & forv (e —

Instructions for the candidates :-

1.

Candidates are required to give answers in their own words as far as

practicable.

qereft JUTHEYT U Yeal H B SR < |

Figures in the right hand margin indicate full marks.
TN 3R BN &R A g ofd unier Afde ot & |
15 Minutes of extra time has been allotted to the candidates for reading

the questions carefully.

39 U YF &I &MYad Ug B ford WRIATRRT &1 15 e BT SrfaiRed
g fear T 2

This question paper is divided into two sections: Section-A and
Section-B

UE U UF Gl GUEl H &, WUe—3] Ud WUs—q

In Section-A, there are 70 objective type questions. Out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 questions will be evaluated. Each

question carries 1 mark. Darken the circle with black or blue ball
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pen against the correct option on OMR-Answer Sheet provided to
you. Do not use whitener/liquid/blade/nails etc on OMR-Answer
Sheet, otherwise the result will be treated as invalid.

GUS—31 ¥ 70 TS U B, TR fhel 35 URihT STR o1 31 | 35
Tl | 31 BT IR &7 TR ULH 35 U BT & JeAIhd BN | TAH B

fore 1 3fp FUiRT B | 3711 SR SUSTE HRI TV 37 TH 3R (OMR) StR

D H AU T WET G DI Dlel AT el dfcd U F YITE BN | fhadl ol gpR

$ @geR /IR U1 / &ofs /ARG 3fE BT (OMR) ITR—UFG H TIRT
EHRAT AT B, AT URIeAT YR AR BT |

In section-B, there are 20 short answer type questions, each carrying
2 marks, out of which any 10 (ten) questions are to be answered.
Apartfrom this, there are 06 long answer type questions, each

carrying 5 marks, out of which any 3 questions are to be answered.

Gus—q § 20 ofg IR U3 8 | AP & ford & i egiiRd €, i 4
=gl 10 YAl @1 SR <1 AR 8 |59 JffaRad, 39 Woe § 06 el

T U 21 0P & ford 5 3fd fuilRa 8 =% 3 5=t 3 uei &1 SR
AT AT B |

Use of any electronic device is strictly prohibited.

el ft IE @ soagie Ifaa w1 STt guiaar afsia 2|
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Wus—31 / SECTION-A
(¥ ue) / (Objective Type Questions)
Question numbers 1 to 70 have four options, out of which only one
is correct. You have to mark your selected option on OMR-answer sheet.

Answer any 35 questions. (1x35=35)

9T GT 1 9 70 b ® TAP U & A1 IR faddpey o v & o8 9

TP WE & | 3 §RT g 1Y e fdded & OMR-STR t3& R fafed & | fagl

35 UeHl & IR < | (1x35=35)
1. Uwmisc &9 gaR &7 fheed 87

A. s B. AgddNTH

C. anfoq® D. &rds

Which type of crystal is graphite?
A. lonic B. Covalent
C. Molecular D. Metallic
2. fUs—afad obR SHIS A H WA & F&A1 81l & —
A 2 B.3
C.4 D. 12
The number of atoms present in a body centred cubic unit cell is -
A 2 B.3

C.4 D. 12
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fIeTad & QIURAE IO BT IIERT & —

A. g9d B. saH=

C. ®@IAIDd I~IT D. dm™

An example of colligative property of a solution is -
A. Density B. Mass

C. Elevation of boiling point D. Temperature

FrforRad | I A1 ysrl Had 3ifed ZHi® S1aTHT Icu~ HRal &7
A. K,SO, B. NaCl

C. R D. “efIot

Which of the following substances produces maximum depression
of freezing point?

A. K,SO, B. NaCl

C. Urea D. Glucose

& NaCl & Jg[d Jiyger 9 dofls W qad 8l & —

A. FARH B. |rfea™

C. AIfsId IMer ™ D. gTgsIoH

The substance deposited at cathode during the electrolysis of
molten NaCl is -

A. Chlorine B. Sodium

C. Sodium amalgam D. Hydrogen
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U SAISTS BT HFD JRIBROT fa9aT +0.76v B, I $HBT HIFD JTBRUI

fova & —
A.2x0.76 v B. 0.76/2 v
C.-0.76 v D. s 4 33 &l

If the standard oxidation potential of an elecrode is +0.76v, then its
standard reduction potential is -
A.2x0.76 v B. 0.76/2 %

C.-0.76 v D. None of these

AT & YfAAIT DI TdIol Ud Hacd a4+ dl AfAThar &f 7 gaR 4

ST ST & —

CH,0. +HO 5 CH O, +CH. O, e afifm & -
A. fgdg ife &t B. U 319H

C. B3H U Pifc & D. 379 9§ I3 2l

The inversion of cane sugar to produce glucose and fructose is

represented by the reaction.

C,H,,0, +H.0 ir) C,H,,0O,+ CH, O,, the reaction is -
A. 2™ order B. Unimolecular
C. Pseudo first order D. None of these

fosr emfwfshar &1 o =i yeR & =rad 8T ®, 97 = K[AJYB] 39
arfafepar & dife Rt —

A.2 B.3
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C. 1 D.o

The rate of a chemical reaction is expressd as : Rate = K[A]?[B].
The order of the reaction would be -

A.2 B.3

C. 1 D.o

fIe[ad—&a & UMTd |9 DIAISS! HUI BT TH HBAR & —
A. 3arET B. fesa uwma

C. U™ D. dgadu—Hae

The migration of colloidal particles under the influence of electric
field is called -

A. Dialysis B. Tyndall effect

C. Emulsion D. Electrophoresis

a8 Wi uarel R g @1 FSpyvl BRIGHSE BT &, PR & —

A. 3R B. @l

C. grgad D. 7

The natural substance from which the extraction of metal is profitable
is called-

A ore B. mineral

C. slag D. gangue

argEs faf g Ut ang @ -
A. IfTH B. ®IR
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C. &R D. vgfftaH
The metal obtained by cyanide process is -

A. Chromium B. Copper
C. Silver D. Aluminium

fereferRad & o9 grgsrio g8 &l a-1aT 8§ ?

A. NH, B.H,O

C. HCI D. HF

Which of the following does not form hydrogen bond ?
A.NH, B.H,0

C. HCI D. HF

S, H AR Bl SRAHRIT F=T & —

A +2 B. +8

C. +4 D.0

The O. N. of sulphur in' S, is -

A. +2 B. +8
C. +4 D.0
fReferitad Arel § Havr yadt 3t & —

A. HCI b. HF

C. HBr D. HI
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The strongest acid amongst the following is -
A. HCI b. HF
C. HBr D. HI

TrEr # 39 gq I3 # 7 it &1 fAsor ygaq gar g ?

A. TSSO + AfRioA + fehes B. 9 + <ifRio + fhed

C. Bfera™ + MR + geod D, fhed + it + aE
The mixture of which of the following gases is used in the instruments
used for the respiration of divers ?

A. Nitrogen + Oxygen + Krypton B. Neon + Oxygen + Krypton
C. Helium + Oxygen + Nitrogen  D. Krypton + Oxygen + Neon
HehHT dedl BT I 3 IR & 3fdvid g —

A. s—<if® | B. p—<ii® #

C. d-sdife H D. f—=dfe 4

The position of transition elements in periodic table is within -
A. s-block B. p-block

C. d-block D. f-block

ffeIlRaa § w9 v HhHo dadl & 2ol &7 9a T8l © ?

A. Cr B. Fe

C. Mg D. Mn

Which of the following is not a member of first transition series ?
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A. Cr B. Fe

C. Mg D. Mn

doATse A e a2 & forg SaRery 2°

A Zrden Y & e w9 2 |

B. Zr @ Nb &7 iR 37a=el FHMF ¢ |

C. Zr @ Hf &1 31 T a9 2 |

D. Zr T2 Zn &1 3iTH-ATHR0T 3Taxel 9 & |

Lanthanide contraction is responsible for which fact?

A. radii of Zr and Y are similar

B. the oxidation states of Zr and Nb are same.

C. radii of Zr and Hf are almost similar

D. the oxidation state of Zr and Zn are same.

=feRaa HehAoT o1q & AT H B Ulagad &7

A. Co* B. Ni**

C. Cu® D. Zn*

The ion of which of the following transition metals is diamagnetic?
A. Co* B. Ni*

C. Cu* D. Zn?

Sifee s [Cu(NH,), ]2 @1 | 9t defid &, df 99 Sifed S o

Cu?* BT UHHNIT & —
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23.
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A. sp® B. sp3d?
C. dsp2 D. dsp?
The shape of [Cu(NH,),J** is square planar. The hybridization of Cu*
in this complex ion is -
A. sp? B. sp®d?

C. dsp2 D. dsp®

[Pt(C,H,)CL,] # Pt e aifeiiaor wem & —

A. +1 B. +2

C.+3 D. +4

The oxidation number of Pt in [Pt(C2H4)CI3]- is -

A. +1 B. +2

C.+3 D.+4

vy Ffeddarige &I IUPAC 1 € —

A. 3—FARIGCA B. 2—FaRISCH

C. 1—FAR—2—HIS U D. 2—FARI—2—Hfd U=
The IUPAC name of sec- Butylchloride is -

A. 3-Chlorobutane B. 2-Chlorobutane

C. 1-Chloro-2-methyl propane D. 2-Chloro-2-methyl propane
frfaRaa # foa fafd & gRT ugw), Aave) Ud SRR sremiga # fawg
far smar 27

A. it fafer B. &1 UfdRe fafer
C. fdaer R fafg D. I¥aa
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Which of the following methods are used to distinguish Primary,
Secondary and Tertiary alcohols ?

A. Oxidation method B. Lucas reagent method

C. Victor Meyer's method D. All of the above

feRaa # fhaeT JaRT Medde & wu H 8Idl 8°

A. FARTBR B. JMASIHH

C. Tifeef D. fgm

Which of the following is used as an anaesthetic ?

A. Chloroform B. lodoform

C. Acetylene D. Methane

Sfcaad VAIce BT TH R I f=foiad § &9 g1 gian © 2

A. Ufdre gHIce B. wrifcSggS

C. vdieH D. wirclcsess

Which of the following is obtained when calcium acetate is heated?
A. Ethylacetate B. Formaldehyde

C. Acetone D. Acetaldehyde

Vehlgel § I Y&l § ?

A. —OH fpareiie #efe B. —CHO fhamsfial HeTdh
|

C. —C=0 fareia geIh D. — NH, fshamefier qere

Which one is present in an alcohol ?
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A. -OH functional group B. -CHO functional group

|
C. -C=0 functional group D. -NH, functional group

=g o oiF Ufecees 3R dIcH & favue &) ghdl & ?
A. wefelTT faea= B. ®iRked ST
C. e sy D. 578 & ®ls a1

Which of the following can differentiate between an aldehyde and a

ketone ?
A. Fehling solution B. Caustic soda
C. Grignard reagent D. None of these

gAY VI & frarefier gere frforRad & @19 82

A.-NH- B.-NH

2

C.NH D.NH,*

3

Which of the following is the functional group of primary amine?

A. -NH- B.-NH

2

C.NH D. NH,*

3

9 a3 &R KMnO, & ©Tel @l &8l Il & —

A. i s B. Tt SR
C. TR AMHHD D. T &1 AfdmH®
Dilute and slightly alkaline KMnO, solution is called -

A. Fenton's reagent B. Lucas reagent
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C. Baeyer's reagent D. Tollen's reagent

fhete o1 ST @& 9of & 1T Ia1eq R fr=falRad § a1 999ar 8 2
A. FTSCISoA B. Uei|

C.doi= D. RS fhAfrss

Which of the following is obtained when phenol is heated with Zn?

A. Nitrobenzene B. Aniline

C. Benzene D. Zinc phenoxide
PreifIeD el &1 Frardier gom & —

A. -CHO B. -CO-

C. -COOH D. -OH

The functional group of carboxylic acid is -
A. -CHO B. -CO-

C. -COOH D. -OH

T Blaf-eh ATD DI Affhar NaHCO, & AJw STeild faeras | - R
weharee el o | 7 § | 98 s Aife § °?

A. Tede B. UehiA

C. Wiifed e D. Uferet Vesplglel

An organic compound on reaction with aqueous concentrated
solution of NAHCO, produces effervescence. Which of the following

is the compound?
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A. An alkane B. An alkene

C. Acetic acid D. Ethylalcohol

e Bf fAforRaa # & f5d g3 9 =ad faar Sirar € 2

A. RCOR B. RCOOR

C. RCOCOH D. RCHO

An ester can be represented by which of the following formulae?
A. RCOR B. RCOOR

C. RCOOH D. RCHO

ATgN e & 3B | IdT & —

A. FHST T B. <R wie

C. urg/r UHHA D. FareTR_l ofqoT
Reduction of nitroalkane gives -

A. Secondary amine B. Tertiary amine

C. Primary amine D. Quarternary salt

DNA T2 RNA & A9 9=H SuRerd & —

A. TEFIF, W8T, IRINTE B. T[T, VI, AIgS™A
C. A, Jifdre, emsde D. T, omgei, oie

The common base present in DNA and RNA are -
A. Adenine, Cyotosine, Uracil B. Guanine, Adenine, Cytosine

C. Guanine, Uracil, Thymine D. Adenine, Thymine, Guanine
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frforRad o I ATRTAT AT INR gRT 81 991 ST 2
A. TSTTSH B. faerfi=
C. U= D. g™

Which of the following is generally not prepared by human body?
A. Enzyme B. Vitamin

C. Protein D. Harmones

fforRaa # f5d agae # e o g1 2 2

A. A6, 6 B. SRel

C. cHa D. dderse
Which of the following polymers has amide bond?
A. Nylon-6, 6 B. Terylene

C. Teflon D. Bakelite

3ifeli™ U 9gad & —

A. STTHARITNA BT B. VfhelMTSSISe &l
C. WHIss 3%l D. §ofi T

Orlon is a polymer of -

A. Tetrafluoroethene B. Acrylonitrile

C. Ethanoic acid D. Benzene
fr=faaa § i >4 Aier el g ? —

A. HH3 B. THR<H
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C. Aifeaw Argddive D. 3% T

Which of the following is artificial sweetening agent ?
A. Saccharin B. Aspartame

C. Sodium Cyclomate D. All of these

fferRad # BI—d1 <d1 gER HH HRAT © 2

A. TSR B. Ufearaifes

C. Ufeurarfes D. SIS
Which of the following medicines reduces fever ?
A. Analgesic B. Antibiotic

C. Antipyretic D. Tranquilizers
fe=ferRad & @i fgdias ddt 2 ?

A. Therrd B. oS ®Rl de
C. Ir=vT 9 D. 379 |1
Which of the following is a secondary cell ?

A. Leclanche cell B. Lead storage battery

C. Concentration cell D. All of these

S1ferenyvr @7 ufdhar Bl § —
A. SN B. gy g
C. 3ifeRiTpIor D. 37T

The process of Adsorption is -
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A. Endothermic B. Surface phenomenon

C. Oxidation D. Reduction

=g o a9 Udol srFl @I 27
A. CH3COOH B. ClCHZCOOH
C. CI.CHOOH D. CI,CCOOH

Which among the following is the strongest acid?

A. CH,COOH B. CICH,COOH
C. CIZCHOOH D. CISCCOOH
ﬁw%lﬁ@ H R vie oF ' °?
A. @ B. CH,-NH-CH,

G, :
C.CH,-N-CH,CH, D. CH,-CH,-N-CH,CH,

Which of the following is a tertiary amine?

2

A. B. CH,-NH-CH,

" i
C.CH,-N-CH,CH, D. CH,-CH,-N-CH,CH,
RNA # 91T S aTell 19 9 8
A. T B. omsHHA
C. AigeriA D. R

The purine base present in RNA is
A. Guanine B. Thymine

C. Cyoticin D. Uracil
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CTalT, UloRergd a2 = et €

A. g §g® B. §ETT dgd®

C. 4 9gdd D. Ui

Teflon, polystyrene and neoprene all are

A. Copolymer B. Condensation polymar

C. Homopolymer D. Monomer

Te IR B <argdl dedl
A. tfeqarifes B. TATIoIRT®
C. SU9MHb D. Ufeurnfes

Pain killer medicines are called

A. Antibiotic B. Analgesic
C. Tranquilizer D. Antipyretic
=1 ¥ fHad had I 77

A. AIfeTH FARTSS B. hIse

C. SIHs D. &R dH18S

In which of the following, there is Frenkel defect?
A. Sodium chloride B. Graphite

C. Diamond D. Silver bromide

IRFS g9 R F=feRaa # faaT Faedie |a9 S 8T 2

A. 0.1 m NaCl B. 0.1 m gl
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C. 0.1 m BaCl, D.0.1mCH,O,
Which of the following would have highest boiling point at
atmospheric pressure ?

A. 0.1 m NaCl B. 0.1 m Sucrose

C. 0.1 m BaCl, D.0.1mCH._O

61276

AISTA FARTSS B STl Gt BT (g [IeeeT o W 948 Ud FNE R

I Ufdhel & —
A.F,, Na B.F, H,
C.0, Na D.O,, H,

The product obtained on electrolysis of aqueous solution of
sodium chloride at anode and cathode are -

A.F, Na B.F, H,

C.0O, Na D.O,, H,

STl H H,(g) + Cl(g) = 2HCI srfafshar &1 ®ife & —

A.3 B.2

C. 1 D. o

The order of the reaction H,(g) + Cl.(g) = 2HCI over water is -

A 3 B. 2

C. 1 D.0

frd I & ST Adg W SN B gy iR Bt 2
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A N d9 ) B.1M & 3@ WX

C. 9 &I Ugfd W) D. SWad # ¥ W

The amount of a gas adsorbed on the surface of a solid depends

upon
A. Temperature of the gas B. Pressure of the gas
C. Nature of the gas D. On all of the above

Fedl el H Yl b WU J FEfoiad § e a1 dc srcdfed dram o

IURerd Y&l 87
A. BTEHIRY B. Hst
C. Prad D. fuferer=

Which of the following elements is present in the largest amount
as impurity in pig iron?
A. Phosphorus B. Mangnese

C. Carbon D. Silicon

= o 9 9 91 siidTss SYIUHl g ?
A.Na,O B. MgO
C. SO2 D. ZnO
Which of the following oxides is amphoteric?
A.Na,0 B. MgO

C. SO2 D. ZnO
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freforRad o Ha9 Uael ofifad 3T BI 27

A. BF B. BCI,

3

C. BBr, D. BI

3

Which among the following is the strongest Lewis acid ?

A. BF, B. BCI,
C. BBr, D. BI,
feferas &1 7e7 ¥ © —

A. Eal B. XfeH
C. AFISITSe D. &I«

The main source of Helium is

A. Air B. Radium
C. Monazite D. Water
rfeRaa § diF Suerg =7

A.S B. Sb
C.P D. Br

Which of the following is a metalloid?
A.S B. Sb
C.P D. Br
SO, A # S URHATY BT AP &

A. sp B. sp2
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C.sp® D. dsp?

The hybridization of S in SO, is

A. sp B. sp?

C. sp® D. dsp?

H,PO, & U& ...

A. THHIRAS 37T B. fg9iiHe® 3
C. Brwies o D. 379 A &Is T8
H,PO,isa........

A. Monobasic acid B. Diabasic acid
C. Tribasic acid D. None of these
TRRRA AT BT G &

A. Hg* B. Hg,*

C. Hg* D. S8 ¥ &3 T8l

The formula of mercurous ion is

A. Hg* B. Hg,*

C. Hg* D. None of these
Au oTg &I SiTaRITHoT HeeT Bl 2

A +1 B. +3

C.+1 Ud +3 g1 D. 3% 9 ®lIs T8l
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The oxidation number of Au metal is

A. +1 B. +3

C. Both +1 and +3 D. None of these
K,[Fe(CN)] & &1 Fe Ueror T & ?

A. dsp? B. dsp?

C. d%sp? D. spid?

What is the hybridization of Fe in K,[Fe(CN).] ?

A. dsp? B. dsp?

C. d%sp® D. spid?

e FARTsS § Ag CN & 91T ¥ &R IR U &Il & —

A. TRIE IRHATES B. Tferet agAIAISS

C. Tfrer T D. TRyt srgge

Ethyl chloride on heating with Ag CN gives

A. Ethyl cyanide B. Ethyle isocyanide

C. Ethyle amine D. Ethyl nitrate

Uil Teblgal & A1 fhd Aiffiep &1 sifafohar 9 ufera ags 997dr 87
A. KBr B. KBr @1 = H,SO,

C. Br, D. NH,Br

Which compound forms ethyl bromide on reaction with ethyl

alcohol?
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A. KBr B. KBr and conc. H,SO,
C. Br, D. NH,Br

HIfeTH veifaargs aam ST AfAfhar wra 3o &

A. AR e geR B. SEAfde $oR

C. SRUIT g2R D. 9iu=

Sodium ethoxide on reaction with bromoethane gives

A. Methylethyl ether B. Dimethyl ether

C. Diethyl ether D. Propane

C,H,,O foa waragdl e yafia &xd § ?

A.3 B.2

C.4 D. 5

How many isomoric ethers are represented by C,H, O?
A.3 B. 2

C.4 D.5

fferRaa JIfrel § fbd R Solac Mgl gIRT R JATHHTT BN ?
A. FARESI B. d=iA

C. sl D. cfersA

Elecrophiles will readily attack on which of the following ?

A. Chlorobenzene B. Benzene

C. Phenol D. Toluene
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69.
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frferRad & fhadr SUIT ®wrfor @& wU & gar & ?

A. HCHO

C. CH,CH,CHO

B. CH,CHO

D. CH,COCH,

Which of the following is used as Formalin ?

A. HCHO

C. CH,CH,CHO

I PIAIdAfTD ¥l Sl Sl JAMMBRED Dl A Bl ©

A. HCOOH

C. CH,CH,COOH

A Carboxylic acid which reduces Tollen's reagent is

A. HCOOH

C. CH,CH,COOH

FARS & G & —

A. CHCI,

C. CCI,CHO

The formula of Chloral is
A. CHCI,

C. CCI,CHO

B. CH,CHO

D. CH,COCH,

B. CH,COOH

D. 579 & &4l

B. CH,COOH

D. All of these

B. CH,CICHO

D. CHCI,CHO

B. CH,CICHO

D. CHCI,CHO

IV' CAREERINDIA
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Lus—9 /SECTION-B

TSI U / Short Answer Type Questions

U3 AT 1 W 20 TP TSR & | fBEl 10 YTl & SR < | AP D foIU 2

3fe feifRa 2| (2x10=20)

Question nos. 1 to 20 are short answer type. Answer any 10 questions.

Each question carries 2 marks. (2x10=20)

1. 3PS U I AT T T & ? 2
What do you mean by unit cell?

2. faega e 9a @1 2° Ue IR0 ¥ §HSI | 2

What is electrochemical cell? Explain with one example.

3. dlg # S o & Hey # fgd—amte e & Seord a8 | 2
Discuss electrochemical principle about rusting of iron.

4. o919 & dgd e Ay @1 wféra auiE Y | 2
Explain in brief electro refining of metals.

5. Ufdel 3fcdhigd I MY FARIGH H & qeeiil ? 2
How would you convert ethylalcohol into chloroform?

6. f=AfeiRad &1 IUPAC 719 o | ’ 2

|
(i) CH,-CH=CH-COOH (ii) CH,-N-CH,-CH,CH,
Write IUPAC names of the following -

H
|
(i) CH,-CH=CH-COOH (i) CH,-N-CH,-CH,CH,
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UG A 3T T AT & 2 2
What do you mean by Tranquilizers?

Jhellse W e A ford | 2
Write short note on Bakelite.

ITERYT & AT 4IfcTes AfRYoT 3R AR STERIToT &l gRHTST &Y |2
Define physical and chemical adsorption with suitable examples.
GG gu Rigr @1 werad § [NiCl > & W= &7 9o &R | 2
Discuss the structure of [NiCl,]*> with the help of Valence Bond
Theory (VBT).

TS afdl I URAICIH 31T H¥ YT deal? 2

How would you obtain Acetone from Acetic acid?

“pIfid T VfoseTgs 3R 37T Ml SINT 3ITERUT BRal & | AR BN |2
"Formic acid behaves both as an aldehyde and as an acid." Explain.
Vel | fihdtel 3Mg & Ui HNar? 2

How would you obtain phenol from aniline ?

o—2fTT TREAT & Wi & v a9 a1 9 SRer)) 81 87 2
Which bond is responsible for the stability of a-helix structure?
I A H URYefeseTss yd HCN @1 ufdfsar &1 9o & | 2

Discuss the reaction of Acetaldehyde and HCN in acidic medium.

ford) e IfWfhar @ I ReRie I MU T I9sT &7 2



Iv‘ CAREERINDIA
What do you mean by the rate constant of a chemical reaction?
17, JAUEE U R 2 ? UHE 1 gA b A ford | 2

What are colligative properties? Write names of colligative properties.

18. AT B UIh T © 7 2
What is Van't Hoff factor?

19. RV @1 HgCl, @1 Sufkerfd § CS, @ A1l T4 &1 W @1 §Idl & 72
What happens when ethylamine is heated with HgCl, in the presence
of CS,?

20. DNA R—UfET &1 fh=gl a1 ITINI &l ol | 2
Write two use of DNA finger printing.

e wed / Long Answer Type Questions

U3 AT 21 W 26 AP " NG U B | YA U B oY 5 b iR g |

frgl 3 Tl &I SR < | (3x5=15)

Question nos. 21 to 26 are long answer type questions. Each question

carries 5 marks. Answer any 3 questions. (83x5=15)

21. UM PIfe BT IMARHAT w7 22 U BIfS BT AFATHAT B 3T SRR < | yorH
pIfc @I AMHAT & 97 ReRd & oIy Aot ured o | 5
What is first order reaction? Give two examples of first order reaction.

Obtain an experssion for the rate constant of a first order reaction.

22. URRRYT U9 RRIRON 19 &1 gRATT Y | fhed) srareefie vd squeey faor



23.

24.

25.

26.

&ﬂﬂﬂﬂl“ﬂlﬂ
& oD SIH Bl ITOHT WRRRU S 99 B qeg F S fhar Sidr 87 5

Define Osmosis and Osmotic pressure. How the molecular mass
of a non volatile and non-electrolyte solute is determined with the

help of Osmotic pressure measurement?

RIS & J&A Al FT1 82 ARSI DI AGal TR I b YK B 875

What are the main sources of lodine? How is lodine extracted from

sea weeds?
dle & Gl G AP BT AW foRd | 3 3% ¥ U<l - DI (A Herg
H ford | 5

Give two important ores of lron. Write in short the process of
extraction from its ore.

FIT BT & 9 5
A. I HITIA BT BT ool 71 fHar Srar g2

B. TeiRier i @ woTer ¥ BT B wud # e 87

What happens when

A. Dry calcium formate is strongly heated?

B. Chloroform reacts with air in the presence of sunlight?

Y DY UTSHT AT BT Sooikd e | 5

Discuss primary structure of protein.



